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Math 23200 (Cowen) Test 1 (Practice) 18 January 2018
There are 4 pages and 16 questions. No partial credit! Scoring will be ‘110’ for all correct, ‘100’
for one incorrect, ‘90’ for 2 incorrect, ‘80’ for 3 incorrect, etc., to ‘=50’ for all incorrect.

You will have 45 minutes to complete this test!

For each of the questions 1 ~ 8, find the derivative of the given function.

1. f(x)=4x5+3\/ﬁ_.\%-i

8
f(z) =
33

4(5x%) + 3(12—11*9/2) - 3(—-;—:::”3/2) — 4(—8z7%) =202* + —2—:59/2 + 3

5:1:"3/ 2432279

/_\/_U_\lﬁj You do KNoOT
need o stuplidy yor
AnSLOEN, E&WW{)
. r\:é,&.l |
& oo w P—

fird) s

2. g(t) = 3¢e*t
gt)=
3ett(4) = 12¢%

‘W be
3. y = 8.3In5¢ be \,J\m’r\f)bﬂ“
V= 1 6.8 WG,
83~ /TL\‘L WW‘-@—A am &t~ S \
bee GeCofibl &S Jinel amguects
4. h(w) = ﬁ
K (w) =

° (‘%) (16 — w2)‘3/2(~2w)_ = 5w(16 — w?) =%

S

—




page 2

(10 points) 5. r(6) = e**»>
r(0) =
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(10 points) 6. f(t) = In(2 + e~3)
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For each of the questions 9 - 16, find an indefinite integral or the definite integral, as indicated.
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13. / 1242 + 5da =
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4a3+5al1_1=(4’13+5'1)—(4‘("1)3“'”5‘(_1)):18

4
14. / V25 —4ydy =
0

2 1 4 1 1 125 27

==} (25 —49)32| = —2(9)3/2 4 Z(95)3/2 — 1220 _ 2f

3(4)( y) . 6() +6(5) 6 6
/

4 192
15. [ —F 4=
b Mt &

4
6In(144 + xz)lo = 61n(160) — 61n(144) = 6 In( 19—0)

/2
16. / (sin 2y)e*=% dy =
0

/2 1 1

coszO :__58 56 =%(e_e—l)

Ze
2



